Test Your Understanding of
Doubles




17 Auctions

* Do you know the right answer before |
reveal Iit? Keep your score as we go.
— 16 right — you're really good.
— 15 right — you're pretty good
— 13 right — you're getting there
— Less than 13 — needs work.




No. 1

North East South
1% double  pass
29 ?7?

Q942
v32

¢ AK5
+KJ43

Pass

West
1 e



North

Pass

No. 2

East South

29 ?7?

aKQ4?2
vJ?
¢A53
+K843

Double

West
1l



North

Pass

No. 3

East South

Pass 77

aA842
vKO72
¢3

+Q843

Double

West
1e



North

Pass

NoO. 4

East South

Pass 77

4A84
YKQ972
¢332
2843

1l

West
1e



North
1e

No. 5

East South
?7?

4J109842
VA2
¢AKA4
»AK

Double
then bid
spades

West



North

Pass

NoO. 6

East South

2 ¢ ?7?

aAQ42
vJ?
¢A53
+K843

pass

West
1l



North

Pass

NO. 7

East South

1 nt ?7?

o442
vyKJ72
¢A53
+KQ43

Double

West
1 e



No.8

North East South
1 e ?7?

aA2
vKJ?2
¢A53
+AKQ43

Double, then
bid no trump

West



No0.9

North East South West
1e ?7?

A8
vyKQ106 2
¢532
+AJ3

1 ¥ Not the right
distribution for a
double



No0.10

North East South West
1e double redouble 1 &
2 ¢ ?7?

aA875
vyKQ106
¢53
»AJ3

Pass — count the
points



No.11

North East South West
49 ?7?

aAQ75
vK6
¢AK3
+KQ103

Double



No0.12

North East South West
49 ?7?

/5
vyAQl06
¢A32
+KQ103

Pass



No0.13

North East South West

49 4 & Pass
Pass S5Y pass Pass
Double  Pass ?7?

aAK9 7532

v

¢AJ2

+»KQ10

Pass - partner’s
bid Is penalty



No.14

North East South West

(R Double redouble 1 &
29 2 & double pass
?7?

53

vyAQJO973

¢AQ2

&J3

Pass - partner’s
bid Is penalty



North

pass

No0.15

East South
Double 2w
Double  pass

49653
v73
¢Q972
«J53

2 &

West

Pass
??



NO0.16

East South West
Double 2w Pass
Double Pass 2 &

Double Pass ?7?

49653
v73
¢Q972
«J53

Pass



No.17/

North East South West

1w 1nt double pass
??

aAJ32

vyKQ1086

¢J7

»K9

Pass



